Most Valuable Athlete and Outstand Meet Performance Award

- The Most Valuable Athlete (MVA) award is determined by the total points scored during the Nebraska Championship Meet. (If the candidate for MVA scores points in a relay, the relay's total points are divided by 4.)
- The **Outstanding Meet Performance (OMP)** Award is recognized to the athlete that has the highest Nationally ranked performance at the Nebraska Championship Meet according to Ahtletic.net.

2010 Girls and Boys MVA & OMP

2010	MVA	Tiani	Gothenburg	1 st in Long Jump, 200 Meter, 400 Meter, 4x4 Relay
		Reeves		(32.5 points)
2010	OMP	Tiani	Gothenburg	400 Meter: 57.75 (2 nd in the nation on Athletic.net)
		Reeves		Long Jump: 17-6.00 (2 nd in the nation on Athletic.net

2010	MVA	Jake	Cozad	1 st in High Jump, 100 Meter, 200 Meter, 5 th in 4x1
		Paulsen		Relay (30.5 points)
2010	OMP	Mark	Columbus	400 Meter: 52.38 (2 nd in the nation by Athletic.net)
		Jarecki	Lakeview	

2011 Girls and Boys MVA & OMP

2011	MVA	Tiani	Gothenburg	1 st in Long Jump, 200 Meter, 400 Meter
		Reeves		2 nd in 100 Meter (38 points)
2011	OMP	Tayler	Crete	200 Hurdles: 30.43 (3 rd in nation by Athletic.net)
		Doremus		

2011	MVA	Alan	Southern	1 st in 100 Meter, 200 Meter
		Varela	Valley	2 nd in 400 Meter
				4 th in 1600 Meter (32 Points)
2011	OMP	Grant	Columbus	Triple Jump: 39-09.50 (6 th in nation by
		Lahm	Scotus	Athletic.net)
2011	OMP	Colin	Cozad	100 Meter Hurdles: 14.56 (6 th in the nation by
		Wetovic		Athletic.net)

2012	MVA	Magan	GICC	1 st in 400 Meter
		Wardyn		2 nd 200 Meter, High Jump (26 points)

2012	OMP	Erin Lee	York	800 Meter: 2:20.63 (3 rd in the nation by
				Athletic.net)

2012	MVA	Simon Wiedel	Thayer Central	1 st in 100 Meter, 200 Meter, Long Jump, Triple Jump (40 points)
2012	ОМР	Kenton Kobza	Fairbury	Discus: 192-08.00 (1 st in the nation by Athletic.net)
2012	ОМР	Simon Wiedel	Thayer Central	Long Jump: 21-01.75 (1 st in the nation by Athletic.net)

2013 Girls and Boys MVA & OMP

2013	MVA	Mika	Seward	1 st in 100 Meter, 200 Meter, 400 Meter
		Brees		3 rd in 4x4 Relay (31.5 points)
2013	OMP	Rachel	North	200 Meter Hurdles: 29.91 (4 th in the nation by
		Stewart	Central	Athletic.net)

2013	MVA	Cody Mroczek	Columbus Scotus	1 st in 400 Meter, Long Jump 3 rd in 200 Meter, 800 Meter (32 points)
2013	OMP	Lance	Mullen	100 Meter Hurdles: 14.41 (3 rd in the nation by
		Moore		Athletic.net)

2014 Girls and Boys MVA & OMP

2014	MVA	Daisy	Sunrise	1 st in 100 Meter, 200 Meter
		Massner	(Kearney)	4 th in Long Jump (24 points)
2014	OMP	Claire	Elm Creek	Long Jump: 17-06.5 (1st in the nation by
		Cornell		Athletic.net)

2014	MVA	Casey Burnham	Westridge (Grand Island)	1 st in 100 Meter, 200 Meter, Long Jump 2 nd in 400 Meter (38 points)
2014	OMP	Casey	Westridge	Long Jump: 20-06.00 (2 nd in the nation by
		Burnham	(Grand	Athletic.net)
			Island)	

2015	MVA	Luryn Hendrickson	Shelton	1 st in 100 Meter Hurdles 2 nd in 200 Meter Hurdles
				3 rd in 200 Meter 4 th in Long Jump (29 points)

2015	OMP	Megan	Elkhorn	High Jump: 5-03 (5 th in the nation by Athletic.net)
		Skovsede	Grandview	
2015	ОМР	Maggie Brahmer	Pierce	High Jump: 5-03 (5 th in the nation by Athletic.net)

2015	MVA	Brent Wetovick	Fullerton	1 st in the 800 Meter, 1600 Meter 4 th in 400 Meter 6 th in 100 Meter Hurdles (28 points)
2015	OMP	Dylan Kautz	Norfolk Catholic	200 Meter: 22.91 (1st in the nation by Athletic.net)

2016 Girls and Boys MVA & OMP

2016	MVA	Rylee	Ainsworth	1 st in 800 Meter, 1600 Meter, 100 Meter Hurdles,
		Rice		200 Meter Hurdles (40 points)
2016	OMP	Kalynn	Superior	Discus: 132-09.00 (1st in the nation by
		Meyer		Athletic.net)

2016	MVA	Alex Patrick	Perkins County	2 nd in 200 Meter, 400 Meter, Long Jump 3 rd in 100 Meter (30 points)
2016	OMP	Carson Cahoy	Barr	Pole Vault: 12-08 (1st in the nation by Athletic.net)

2017 Girls and Boys MVA & OMP

2017	MVA	Lauren	Buffett	1 st in 200 Meter, 400 Meter, High Jump (30 points)
		Harris	(Omaha)	
2017	OMP	Renee	Battle	Triple Jump: 35-09.5 (8 th in the nation by
		Brummels	Creek	Athletic.net)

2017	MVA	Jackson McIntyre	Central	2 nd in 100 Meter, 200 Meter, 400 Meter, and Long Jump (32 points)
		ivicilityle	Valley	Jump (32 points)
			(Greeley)	
2017	OMP	Tristin	McMillan	Shot Put: 52-02.00 (2 nd in the nation by
		Gray	(Omaha)	Athletic.net)

2018	MVA	Grace	Columbus	2 nd in 100 Meter Hurdles, 200 Meter Hurdles,
		Mustard	Scotus	4x100 Relay
				4 th in 200 Meter (22 points)

2018	OMP	Berlyn	Schoo	1600 Meter: 5:08.33 (5 th in the nation by
		Schutz	(Lincoln)	Athletic.net)

2018	MVA	Preston	Scottsbluff	1 st in 100 Meter, 200 Meter
		Anderson		3 rd in 400 Meter (26 points)
2018	OMP	Brandon	Battle	High Jump: 6-03 (1st in the nation by Athletic.net)
		Olson	Creek	

2019	MVA	Kate Compos	Cathedral of the Risen Christ (Lincoln)	1 st in 100 Meter Hurdles, 200 Hurdles 2 nd in the 100 Meter 3 rd in the 200 Meter (34 points)
2019	OMP	Berlyn	Schoo	1600 Meter: 5:01.08 (1st in the nation by
		Schutz	(Lincoln)	Athletic.net)

2019	MVA	Cade	Elmwood-	2 nd in Long Jump, Triple Jump, 100 Meter
		Hosier	Murdock	4 th in 200 Meter (29 points)
2019	OMP	Jacob	Elkhorn	100 Meter Hurdles: 14.08 (1st in the nation by
		Horner	Grandview	Athletic.net)
2019	OMP	Cooper	Archbishop	200 Meter Hurdles: 26.52 (1st in the nation by
		Weitzel	Bergan	Athletic.net)
			(Fremont)	
2019	OMP	Aiden	Elkhorn	Shot Put: 53-06.00 (1st in the nation by
		Betz		Athletic.net)